INSTALLATION INSTRUCTIONS
SLIDE-IN ELECTRIC RANGE

Table of Contents
RANGE SAFETY .1
INSTALLATION REQUIREMENTS. .........ccooeiminmrnennnsmnnsssnsssnnsnanns 2
TOOIS aNd Parts .......cccoiiiiieeeee e 2
Location ReqUIrEMENtS........uueviiiiiiiiceee e 2
Electrical ReqQUIreMEeNts ........coivceieieeiiiiiiiiieen e 3
Countertop Preparation ..........c.occooieineeeneeeeeeeee e 4
INSTALLATION INSTRUCTIONS........ .4
UNPack RANGE.......ccereerieeereeeeee e 4
Adjust LeVeliNg LEgS .....cvvireerirerieeeereesee e e 5
Install Anti-Tip Bracket.........coviieeiiiciiencciens e 5
Electrical ConNNECHION .......coocveriirierie ettt 6
Verify Anti-Tip Bracket Location .........cccvcveviieceeeiesceeeis e 11
Level RANgE. ..ot e 11
Complete INStallation .........cocveerierriere e 11
Moving the Range ........ccceeeiiiiiie e 12

RANGE SAFETY

Your safety and the safety of others are very important.

We have provided many important safety messages in this manual and on your appliance. Always read and obey all safety
messages.

This is the safety alert symbol.
This symbol alerts you to potential hazards that can kill or hurt you and others.

All safety messages will follow the safety alert symbol and either the word “DANGER” or “WARNING.”
These words mean:

A You can be killed or seriously injured if you don't immediately
DANG ER follow instructions.

You can be killed or seriously injured if you don't follow
A WAR N I N G instructions.

All safety messages will tell you what the potential hazard is, tell you how to reduce the chance of injury, and tell you what can
happen if the instructions are not followed.

AWARNING

) Tip Over Hazard
/ A child or adult can tip the range and be killed.

Connect anti-tip bracket to rear range foot.

Reconnect the anti-tip bracket, if the range is moved.

Failure to follow these instructions can result in death or serious burns to children and adults.

IMPORTANT:

Save for local electrical inspector's use.

8101P746-60



INSTALLATION REQUIREMENTS

Gather the required tools and parts before starting installation.
Read and follow the instructions provided with any tools listed
here.

Tools needed

m Tape measure Wrench or pliers

Level %" nut driver
Hand or electric drill

]
m  Phillips screwdriver
] ¥8" (3.2 mm) drill bit

Flat-blade screwdriver

Parts supplied
Check that all parts are included.
m 3 - 10-32 hex nuts (attached to terminal block)

3 - Terminal lugs
2 - Oven racks
2 - #12 x 19" screws (for mounting anti-tip bracket)

Anti-tip bracket (taped inside storage drawer)

Anti-tip brackets must be securely mounted to back wall or
floor. Thickness of floor may require longer screws to anchor
bracket to sub-floor. Longer screws are available from your
local hardware store.

Parts needed
If using a power supply cord:

m A UL listed power supply cord kit marked for use with ranges.
The cord should be rated at 250 volts minimum, 40 amps or
50 amps that is marked for use with nominal 135" (3.5 cm)
diameter connection opening and must end in ring terminals
or open-end spade terminals with upturned ends.

m A UL listed strain relief.

Check local codes. Check existing electrical supply. See
“Electrical Requirements” section.

It is recommended that all electrical connections should be made
by a licensed, qualified electrical installer.

IMPORTANT: Observe all governing codes and ordinances.

m [t is the installer’s responsibility to comply with installation
clearances specified on the model/serial rating plate. The
model/serial rating plate is located on the right-hand side of
the oven frame behind the storage drawer panel.

m The range should be located for convenient use in the
kitchen.

m To eliminate the risk of burns or fire by reaching over heated
surface units, cabinet storage space located above the
surface units should be avoided. If cabinet storage is to be
provided, the risk can be reduced by installing a range hood
that projects horizontally a minimum of 5" (12.7 cm) beyond
the bottom of the cabinets.

m Cabinet opening dimensions that are shown must be used.
Given dimensions are minimum clearances.

m  The floor anti-tip bracket must be installed. To install the anti-
tip bracket shipped with the range, see “Install Anti-Tip
Bracket” section.

m  Grounded electrical supply is required. See “Electrical
Requirements” section.

IMPORTANT: To avoid damage to your cabinets, check with your
builder or cabinet supplier to make sure that the materials used
will not discolor, delaminate or sustain other damage. This oven
has been designed in accordance with the requirements of UL
and CSA International and complies with the maximum allowable
wood cabinet temperatures of 194°F (90°C).

Mobile Home - Additional Installation Requirements

The installation of this range must conform to the Manufactured
Home Construction and Safety Standard, Title 24 CFR, Part 3280
(formerly the Federal Standard for Mobile Home Construction
and Safety, Title 24, HUD Part 280). When such standard is not
applicable, the Standard for Manufactured Home Installations,
ANSI A225.1/NFPA 501A or with local codes.

Mobile home installations require:

m  When this range is installed in a mobile home, it must be
secured to the floor during transit. Any method of securing
the range is adequate as long as it conforms to the standards
listed above.

m  Four-wire power supply cord or cable must be used in a
mobile home installation. The appliance wiring will need to be
revised. See “Electrical Connection” section.

Product Dimensions

)

.. k\A/

~

A. 30%" (78 cm)

B. 35%4" (90.8 cm) height to underside
of cooktop edge with leveling legs
screwed all the way in*

C. Model/serial number plate (located
behind the storage drawer on the
right-hand side of the oven frame

D. 297" (75.9 cm)

E. 28%s" (75.9 cm) from
handle to standoff at back
of range™*

F. 23%" (60.3 cm)
countertop notch to rear
of cooktop

*Range can be raised approximately 1" (2.5 cm) by adjusting
the leveling legs.

**When installed in a 24" (61 cm) base cabinet with 25" (63.5 cm)
countertop; front of oven door protrudes 212" (6.4 cm) beyond
24" (61 cm) base cabinet.



Cabinet Dimensions

Cabinet opening dimensions shown are for 25" (64 cm)
countertop depth, 24" (61 cm) base cabinet depth and
36" (91.4 cm) countertop height.

If installing a range hood or microwave hood combination above
the range, follow the range hood or microwave hood combination
installation instructions for dimensional clearances above the
cooktop surface.

A. 13" (33 cm) upper cabinet E. 30" (76.2 cm) min. opening
depth width

B. 30" (76.2 cm) min. opening F. Junction box - 5.5" (14 cm)
width min. from either cabinet,

C. For minimum clearance to the 10" (25.4 cm) max. from floor
top of the cooktop, Outlet must be flush.

see NOTE*. Nothing Ioc;?teg in shag’ed
" : area can extend more than
D. gg;f;h(%j cm) opening 2" (5.1 cm) from wall or range

will not slide all the way back.

G. Cabinet door or hinge should
not extend into cutout.

NOTE: 24" (61 cm) minimum when bottom of wood or metal
cabinet is protected by not less than V4" (0.64 cm) flame retardant
millboard covered with not less than No. 28 MSG sheet steel,
0.015" (0.4 mm) stainless steel, 0.024" (0.6 mm) aluminum or
0.020" (0.5 mm) copper.

30" (76.2 cm) minimum clearance between the top of the cooking
platform and the bottom of an unprotected wood or metal
cabinet.

If codes permit and a separate ground wire is used, it is
recommended that a qualified electrical installer determine that
the ground path is adequate and wire gauge is in accordance
with local codes.

Do not use an extension cord.

Be sure that the electrical connection and wire size are adequate
and in conformance with the National Electrical Code, ANSI/
NFPA 70-latest edition and all local codes and ordinances.

A copy of the above code standards can be obtained from:

National Fire Protection Association
One Batterymarch Park
Quincy, MA 02269

WARNING: Improper connection of the equipment-grounding
conductor can result in a risk of electric shock. Check with a
qualified electrician or service technician if you are in doubt as to
whether the appliance is properly grounded. Do not modify the
power supply cord plug. If it will not fit the outlet, have a proper
outlet installed by a qualified electrician.

This range is manufactured with the neutral terminal connected
to the cabinet. Use a 3-wire, UL listed, 40-amp power supply
cord (pigtail); or if local codes do not permit ground through the
neutral, use a 4-wire power supply cord rated at 250 volts,

40 amps and investigated for use with ranges.

Electrical Connection

To properly install your range, you must determine the type of
electrical connection you will be using and follow the instructions
provided for it here.

m Range must be connected to the proper electrical voltage
and frequency as specified on the model/serial number rating
plate. (The model/serial number rating plate is located on the
oven frame behind the storage drawer panel.)

m  When a 4-wire or 3-wire, single phase 120/240 volt, 60 Hz,
AC only electrical supply is available, a 50-amp maximum
circuit protection is required (or, if specified on the model/
serial rating plate, when a 4-wire or 3-wire single phase
120/208 volt 60 Hz, AC only electrical supply is available, a
40- or 50-amp maximum circuit protection is required), fused
on both sides of the line.

A time-delay fuse or circuit breaker is recommended.

The range can be connected directly to the fused disconnect
(or circuit breaker box) through flexible or nonmetallic
sheathed, copper or aluminum cable. See “Electrical
Connection.”

m Allow 2 to 3 ft (61.0 cm to 91.4 cm) of slack in the line so that
the range can be moved if servicing is ever necessary.

m A UL listed conduit connector must be provided at each end
of the power supply cable (at the range and at the junction
box).

m  Wire sizes and connections must conform with the rating of
the range (40 amps).

m The wiring diagram is located on the underside of the storage
drawer or below the warming drawer in a clear plastic bag.



If using a power supply cord:

m A UL listed power supply cord kit marked for use with ranges.
The cord should be rated at 250 volts minimum, 40 amps or
50 amps that is marked for use with nominal 135" (3.5 cm)
diameter connection opening and must end in ring terminals
or open-end spade terminals with upturned ends.

m A UL listed strain relief.

If connecting to a 4-wire system:

This range is manufactured with the ground connected to the
cabinet. The ground must be revised so the green ground wire of
the 4-wire power supply cord is connected to the cabinet. See
“Electrical Connection.”

Grounding through the neutral conductor is prohibited for new
branch-circuit installations (1996 NEC); mobile homes; and
recreational vehicles, or an area where local codes prohibit
grounding through the neutral conductor.

When a 4-wire receptacle of NEMA Type 14-50R is used, a
matching UL listed, 4-wire, 250 volt, 40-amp, range power supply
cord (pigtail) must be used. This cord contains 4 copper
conductors with ring terminals or open-end spade terminals with
upturned ends, terminating in a NEMA Type 14-50R plug on the
supply end.

The fourth (grounding) conductor must be identified by a green or
green/yellow cover and the neutral conductor by a white cover.
Cord should be Type SRD or SRDT with a UL listed strain relief
and be at least 4 ft (1.22 m) long.

)

[
I

4-wire receptacle (14-50R)

The minimum conductor sized for the copper 4-wire power
cord are:

40-amp circuit

2 No.-8 conductors

1 No.-10 white neutral

1 No.-8 green grounding

If connecting to a 3-wire system:

Local codes may permit the use of a UL listed, 3-wire,

250 volt, 40-amp range power supply cord (pigtail). This cord
contains 3 copper conductors with ring terminals or open-end
spade terminals with upturned ends, terminating in a NEMA Type
10-50P plug on the supply end. Connectors on the appliance end
must be provided at the point the power supply cord enters the
appliance. This uses a 3-wire receptacle of NEMA Type 10-50R.

3-wire receptacle (10-50R)

The cooktop sides of the slide-in range fit over the cutout edge of
your countertop.

If you have a square finish (flat) countertop and the opening width
is 30" (76.2 cm), no countertop preparation is required.

Formed front-edged countertops must have molded edge
shaved flat 3" (1.0 cm) from each front corner of opening.

Tile countertops may need trim cut back 35" (1.0 cm) from each
front corner and/or rounded edge flattened.

30"
(76.2 cm) 3"

(1.0cm)

303%"
(78.1 cm)

e

If countertop opening width is greater than 30" (76.2 cm), adjust
the 38" (1.0 cm) dimension.

Countertop must be level. Place level on countertop, first side to
side, then front to back. If countertop is not level, range will not
be level. Range must be level for satisfactory baking conditions.

INSTALLATION INSTRUCTIONS

AWARNING

Excessive Weight Hazard

Use two or more people to move and install range.

Failure to do so can result in back or other injury.

1. Remove shipping materials, tape and protective film from the
range. Keep cardboard bottom under range.

2. Remove oven racks and parts package from inside oven.
3. Pull storage drawer out completely.
4. Remove and discard cardboard cross support.

A. Storage drawer
B. Cardboard cross support



5. To place range on its back, take 4 cardboard corners from the
carton. Stack one cardboard corner on top of another.
Repeat with the other 2 corners. Place them lengthwise on
the floor behind the range to support the range when it is laid
on its back.

6. Using 2 or more people, firmly grasp the range and gently lay
it on its back on the cardboard corners.

7. Pull cardboard bottom firmly to remove.

8. Use an adjustable wrench to loosen the leveling legs.

9. Place cardboard or hardboard in front of range. Using 2 or
more people, stand range back up onto cardboard or
hardboard.

1. If range height adjustment is necessary, use a wrench or

pliers to loosen the 4 leveling legs.

This may be done with the range on its back or with the range
supported on 2 legs after the range has been placed back to
a standing position.

NOTE: To place range back up into a standing position, put a
sheet of cardboard or hardboard in front of range. Using 2 or
more people, stand range back up onto the cardboard or
hardboard.

AWARNING

)

Yy

Tip Over Hazard
A child or adult can tip the range and be killed.
Connect anti-tip bracket to rear range foot.
Reconnect the anti-tip bracket, if the range is moved.

Failure to follow these instructions can result in death
or serious burns to children and adults.

Adjust the leveling legs to the correct height. Leveling legs
can be loosened to add up to a maximum of 1" (2.5 cm). A
minimum of %6" (5 mm) is needed to engage the anti-tip
bracket.

NOTE: If height adjustment is made when range is standing,
tilt the range back to adjust the front legs, then tilt forward to
adjust the rear legs.

When the range is at the correct height, check that there is
adequate clearance under the range for the anti-tip bracket.
Before sliding range into its final position, check that the anti-
tip bracket will slide under the range and onto the rear
leveling leg prior to anti-tip bracket installation.

Remove the anti-tip bracket that is taped in the storage
drawer.

Determine which mounting method to use: floor or wall.

If you have a stone or masonry floor you can use the wall
mounting method.

3. Determine and mark centerline of the cutout space. The
mounting bracket can be installed on either the left side or
right side of the cutout. Position mounting bracket in cutout
so that right (or left) edge of the bracket is 14V4" (36.2 cm)
from centerline, as shown.

A. Centerline
B. 144" (36.2 cm)

4. Dirill two %" (3 mm) holes that correspond to the bracket
holes of the determined mounting method. See below.

Floor Mounting

A. #12 x 1%" screws
B. Anti-tip bracket

Wall Mounting
B
A. #12 x 1%" screws
B. Anti-tip bracket
5. Using the Phillips screwdriver, mount anti-tip bracket to the

wall or floor with the two #12 x 1%" screws provided.



Power Supply Cord Direct Wire

) )

Electrical Shock Hazard Electrical Shock Hazard
Disconnect power before servicing. Disconnect power before servicing.
Use a new 40 amp power supply cord. Use 8 gauge copper or 6 gauge aluminum wire.
Plug into a grounded outlet. Electrically ground range.
Failure to follow these instructions can result in death, Failure to follow these instructions can result in death,
fire, or electrical shock. fire, or electrical shock.
1. Disconnect power. m Feed the power supply cord through the opening in the

cord/conduit plate on bottom of range. Allow enough

2. Use Phillips screwdriver to remove the terminal block cover slack to easily attach the wiring to the terminal block.

screw located on the back of the range. Pull cover down and
toward you to remove cover. m Tighten strain relief screw against the power supply cord.

wT:

Style 2: Direct wire strain relief

3. Remove plastic tag holding three 10-32 hex nuts from the m Use Phillips screwdriver to remove screws from panel on
middle post of the terminal block. back of range.

4. Add strain relief.
Style 1: Power supply cord strain relief

m  Assemble a UL listed strain relief in the opening.

i J N T

1y
-

A. UL listed strain relief



Lift range back panel up and off.

=y

oy

WY

\\®®

RN

AARARAY

Use Phillips screwdriver to remove screws and slide
cord/conduit plate down and out.

Position cord/conduit plate as shown in the following
illustration.

m  Assemble a UL listed conduit connector in the opening.

— I

e
L

A. Removable retaining nut
B. Strain relief

m Feed the flexible conduit through the strain relief, allowing
enough slack to easily attach wiring to the terminal block.

m Tighten strain relief screw against the flexible conduit.

o

Replace back panel and screws on rear of range.

6. Complete installation following instructions for your type of

electrical connection:

4-wire (recommended)

3-wire (if 4-wire is not available)

Electrical Connection Options

If your home has:

4-wire receptacle
(NEMA type 14-50R)

And you will be
connecting to:

A UL listed,
250-volt
minimum,
40-amp, range
power supply
cord

Go to Section:

4-wire connection:
Power supply cord

5"—
(12.7 cm)

A fused
disconnect or
circuit breaker
box

4-wire connection:
Direct wire

3-wire receptacle
(NEMA type 10-50R)

A UL listed,
250-volt
minimum,
40-amp, range
power supply
cord

3-wire connection:
Power supply cord

3-wire direct

A fused
disconnect or
circuit breaker
box

3-wire connection:
Direct wire



4-wire connection: Power Supply Cord

Use this method for:

4,

New branch-circuit installations (1996 NEC)
Mobile homes
Recreational vehicles

In an area where local codes prohibit grounding through the
neutral

Part of metal ground strap must be cut out and removed.

A. Metal ground strap
B. Ground-link screw

Use Phillips screwdriver to remove the ground-link screw
from the back of the range. Save the ground-link screw.

Feed the power supply cord through the opening in the cord/
conduit plate on bottom of range. Allow enough slack to
easily attach the wiring to the terminal block.

A. Terminal block

B. Ground-link screw

C. Cord/conduit plate

D. Power supply cord wires

Use Phillips screwdriver to connect the green ground wire
from the power supply cord to the range with the ground-link
screw. The ground wire must be attached first.

5. Use 3" nut driver to connect the neutral (white) wire to the
center terminal block post with one of the 10-32 hex nuts.

A. 10-32 hex nut
B. Ground-link screw
C. Line 1 (black)

D. Green ground wire
E. Neutral (center) wire
F. Line 2 (red)

6. Connect line 1 (black) and line 2 (red) wires to the outer
terminal block posts with 10-32 hex nuts.

7. Securely tighten hex nuts.

NOTE: For power supply cord replacement, only use a power
cord rated at 250 volts minimum, 40 amps or 50 amps that is
marked for use with nominal %" (3.5 cm) diameter connection

opening, with ring terminals and marked for use with ranges.

8. Replace terminal block access cover.

3-wire connection: Power Supply Cord

Use this method only if local codes permit connecting chassis
ground conductor to neutral wire of power supply cord.

1. Feed the power supply cord through the opening in the cord/

conduit plate on bottom of range. Allow enough slack to
easily attach the wiring to the terminal block.

A. Terminal block

B. Ground-link screw

C. Cord/conduit plate

D. Power supply cord wires



2. Use 3" nut driver to connect the neutral (white) wire to the
center terminal block post with one of the 10-32 hex nuts.

A E
A. 10-32 hex nut D. Neutral (white) wire
B. Line 1 (black) E. Line 2 (red)

C. Ground-link screw

3. Connect line 1 (black) and line 2 (red) wires to the outer
terminal block posts with 10-32 hex nuts.

4. Securely tighten hex nuts.
NOTE: For power supply cord replacement, only use a power
cord rated at 250 volts minimum, 40 amps or 50 amps that is
marked for use with nominal 3" (3.5 cm) diameter connection
opening, with ring terminals and marked for use with ranges.

5. Replace terminal block access cover.

Direct Wire Installation: Copper or Aluminum Wire

This range may be connected directly to the fuse disconnect or
circuit breaker box. Depending on your electrical supply, make
the required 3-wire or 4-wire connection.

1. Strip outer covering back 3" (7.6 cm) to expose wires. Strip
the insulation back 1" (2.5 cm) from the end of each wire.

1o
(2.5 cm) \

e
(7.6 cm)

2. Allow enough slack in the wire to easily attach the wiring
terminal block.

3. Complete electrical connection according to your type of
electrical supply (4-wire or 3-wire connection).

4-wire Connection: Direct Wire

Use this method for:

—

New branch-circuit installations (1996 NEC)
Mobile homes
Recreational vehicles

In an area where local codes prohibit grounding through the
neutral

Part of metal ground strap must be cut out and removed.

A. Metal ground strap
B. Ground-link screw

Use Phillips screwdriver to remove the ground-link screw
from the back of the range. Save the ground link screw and
discard the remaining end of the ground link.

Pull the conduit through the strain relief on cord/conduit plate
on bottom of range. Allow enough slack to easily attach
wiring to the terminal block.

A
B
L
C
G D

A. Terminal block E. Neutral (white) wire

B. Ground-link screw F. Line 1 (black) wire

C. Cord/conduit plate G. Bare (green) ground wire

D. Line 2 (red) wire



4. Attach terminal lugs to line 1 (black), neutral (white), and line 2
(red) wires. Loosen (do not remove) the set screw on the front
of the terminal lug and insert exposed wire end through
bottom of terminal lugs. Securely tighten set screw to XX Ibs-
in. torque. See Bare Wire Torque Specifications chart.

A

55 &,
1

A. Terminal lug

B. Set screw

C. Line 1 (black) wire
D. Neutral (white) wire
E. Line 2 (red) wire

Bare Wire Torque Specifications
Attaching terminal lugs to the terminal block - 20 Ibs-in. (2.3 N-m)

Wire Awg Torque

8 gauge copper 25 Ibs-in. (2.8 N-m)

6 gauge aluminum 35 Ibs-in. (4.0 N-m)

5. Use Phillips screwdriver to connect the bare (green) ground
wire to the range with the ground-link screw. The ground wire
must be attached first and must not contact any other
terminal.

6. Use 3" nut driver to connect the neutral (white) wire to the
center terminal block post with one of the 10-32 hex nuts.

A. 10-32 hex nut

B. Line 1 (black)

C. Bare (green) ground wire
D. Ground-link screw

E. Neutral (white) wire
F. Line 2 (red)
G. Terminal lug

7. Connect line 1 (black) and line 2 (red) wires to the outer
terminal block posts with 10-32 hex nuts.

8. Securely tighten hex nuts.
9. Replace terminal block access cover.

10

3-wire connection: Direct Wire

Use this method only if local codes permit connecting ground
conductor to neutral supply wire.

1. Pull the conduit through the hole and conduit plate on bottom
of range. Allow enough slack to easily attach the wiring to the
terminal block.

P

[N}
- J!
s

A. Terminal block
B. Ground-link screw
C. Cord/conduit plate

D. Line 2 (red) wire
E. Bare (green) ground wire
F. Line 1 (black) wire

2. Attach terminal lugs to line 1 (black), bare (green) ground,

and line 2 (red) wires. Loosen (do not remove) the set screw
on the front of the terminal lug and insert exposed wire end
through bottom of terminal lugs. Securely tighten set screw to
XX Ibs-in. torque. See Bare Wire Torque Specifications chart.

A
B
: i i
C D E /]

A. Terminal lug

B. Set screw

C. Line 1 (black) wire

D. Bare (green) ground wire
E. Line 2 (red) wire



Bare Wire Torque Specifications
Attaching terminal lugs to the terminal block - 20 Ibs-in. (2.3 N-m)

Wire Awg Torque

8 gauge copper 25 Ibs-in. (2.8 N-m)

6 gauge aluminum 35 Ibs-in. (4.0 N-m)

3. Use 3" nut driver to connect the bare (green) ground wire to
the center terminal block post with one of the 10-32 hex nuts.

A. 10-32 hex nut
B. Line 1 (black)
C. Ground-link screw

D. Bare (green) ground wire
E. Line 2 (red)
F. Terminal lug

4. Connect line 1 (black) and line 2 (red) wires to the outer
terminal block posts with 10-32 hex nuts.

5. Securely tighten hex nuts.
6. Replace terminal block access cover.

1. Making sure the anti-tip bracket is installed:

m Look for the anti-tip bracket securely attached to floor or
wall.

m  Slide range back so rear range foot is engaged with
anti-tip bracket.

Place rack in oven. Place level on rack and check levelness of
range, first side to side; then front to back.

If range is not level, pull range forward until rear leveling leg is
removed from the anti-tip bracket.

Use wrench to adjust leveling legs up or down until range is level.
Push range back into position. Check that rear leveling leg is
engaged in anti-tip bracket.

NOTE: Range must be level for satisfactory baking conditions.

—

Check that all parts are now installed. If there is an extra part,
go back through the steps to see which step was skipped.

Check that you have all of your tools.
Dispose of/recycle all packaging materials.
Check that the range is level. See “Level Range.”

Use a mild solution of liquid household cleaner and warm
water to remove waxy residue caused by protective shipping
material. Dry thoroughly with a soft cloth. For more
information, read the “Range Care” section of the Use and
Care Guide.

6. Read “Range Use” in the range Use and Care Guide.

7. Plug power cord into appropriate outlet. Slide range into its
final location. Check that the flexible conduit or power supply
cord are not bent.

8. Replace storage drawer.

9. Turn power on. Turn on surface burners and oven. See the
Use and Care Guide for specific instruction on range
operation.

If range does not operate, check the following:

m Household fuse is intact and tight; or circuit breaker has not
tripped.

o rwDN

Range is plugged into an outlet.
Electrical supply is connected.
See “Troubleshooting” in the Use and Care Guide.

When the range has been on for 5 minutes, check for heat. If
range is cold, turn off the range and contact a qualified
technician.

11



AWARNING

)

Yy

For direct-wired ranges:

4

Tip Over Hazard
A child or adult can tip the range and be killed.
Connect anti-tip bracket to rear range foot.
Reconnect the anti-tip bracket, if the range is moved.

Failure to follow these instructions can result in death
or serious burns to children and adults.

When moving range, slide range onto cardboard or hardboard to
avoid damaging the floor covering.

If removing the range is necessary for cleaning or maintenance:

For power supply cord-connected ranges:

1. Unplug the power supply cord.

2. Slide range forward to complete cleaning or maintenance.
3. Check that anti-tip bracket is installed:

m  Look for the anti-tip bracket securely attached to floor or
wall.

m Slide range back so rear range foot is under anti-tip
bracket.

4. Check that range is level.

8101P746-60

© 2007.Whirlpool Corporation.
All rights reserved.

Electrical Shock Hazard
Disconnect power before servicing.
Replace all parts and panels before operating.

Failure to do so can result in death or electrical shock.

Disconnect power.

Disconnect wiring.

Slide range forward to complete cleaning or maintenance.
Check that anti-tip bracket is installed:

m Look for the anti-tip bracket securely attached to floor or
wall.

poN A

m Slide range back so rear range foot is under anti-tip
bracket.

5. Check that range is level.

7/07
Printed in U.S.A.




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


